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Question Number : 1 Question Id : 6801916227 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"Education 1s the manifestation of divine perfection already existing in man".
Through which of the following agencies of education the word Development is

hinted at in the above quote.

1. School as an Agency
2. Societal Agency

3. Family as an Agency
4. Self as an agency

Options :

68019124401. 1
68019124402. 2
68019124403. 3

68019124404. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

68019124401. 1
68019124402. 2
68019124403. 3

68019124404. 4

Question Number : 2 Question Id : 6801916228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reflects the narrower meaning of Education?

(A).It 13 a deliberate and conscious process planned to develop socially desirable
behaviours.

(B).Learning as an accumulation of mnformation and knowledge.

(C). Learning as an understanding of life.

(D). Learning as preparation for life

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019124405. 1
68019124406. 2
68019124407. 3

68019124408. 4

Question Number : 2 Question Id : 6801916228 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124405. 1
68019124406. 2
68019124407. 3

68019124408. 4

Question Number : 3 Question Id : 6801916229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the three are the branches of philosophy?

1. Physics. Metaphysics and Epietemology
2. Metaphysics. Axiology and Epistemology
. Ecology. Epistemology and Axiology

4. Biophysics. Ethics and Aesthetics

s

Options :

68019124409. 1
68019124410. 2
68019124411.3

68019124412. 4



Question Number : 3 Question Id : 6801916229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
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Options :

680191244009. 1
68019124410. 2
68019124411.3

68019124412. 4

Question Number : 4 Question Id : 6801916230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which school of Philosophy does John Dewey advocate for?

1. Idealism

2. Realism

3. Pragmatism
4, Naturalism

Options :

68019124413. 1
68019124414. 2
68019124415.3

68019124416. 4

Question Number : 4 Question Id : 6801916230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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68019124413.1
68019124414. 2
68019124415. 3

68019124416. 4

Question Number : 5 Question Id : 6801916231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the statements that demonstrate the relationship between education and
philosophy

(A).Philosophy provides aims and objectives to education.

(B). Education shapes the Philosophical thoughts.

(C). Both Philosophy and Education are two sides of the same coin. wherein
Philosophy 1s contemplation and Education is the application of it.

(D). Philosophical thoughts shape the educational practices.

(E). Education facilitates the cognitive development.

Choose the correct answer from the options given below:

1. (A). (C) and (D) only:.
2. (A). (B) and (C) only.
3. (E) only.

4. (A). (B) and (D) only.

Options :

68019124417. 1
68019124418. 2
68019124419.3
68019124420. 4

Question Number : 5 Question Id : 6801916231 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019124417.1
68019124418. 2
68019124419. 3

68019124420. 4

Question Number : 6 Question Id : 6801916232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aims of Education Schools of Thought]|
To develop child awareness about the real
A |world and prepare for happy and [. |Naturalism

successiul life.

Establishing conscious relationship of self
with untverzal zelf and educate towards a
B. II. |Realizsm.

the attamment of attributes like 'Satyam',
'‘Shivam' and 'Sundaram'

Development and strengthening of every
C. |bodyv part and emphasis on the freedom of | II1. |Pragmatism.
child.

Ajims of education based on educand's
D. |needs which are specific and temporal and| IV. |[dealism.
not general and permanent

Choose the correct answer from the options given below:

1. (A) - II). (B) - (IV). (C) - (I). (D) - (II)
2. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
. (A) - (ID). (B) - (IV). (C) - (I). (D) - (I1I)
4. (A) - (V). (B) - (ID). (C) - (I). (D) - (IIT)

L)

Options :

68019124421. 1
68019124422, 2
68019124423.3
68019124424. 4

Question Number : 6 Question Id : 6801916232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - II). (B) - (IV). (C) - (I). (D) - (II)
2. (A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(I). (B) - (IV). (C) - (). (D) - (II)
4. (A) - (IV). (B) - (II). (C) - (1), (D) - (III)

(®)

Options :

68019124421. 1
68019124422. 2
68019124423. 3
68019124424. 4

Question Number : 7 Question Id : 6801916233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a key criterion for developing a curriculum based on
Pragmatism?

1. Child's Experience and Interest

2. Preparation for life

3. Morals and Values

4. Utility centered and integration of Subjects
Options :

68019124425. 1



68019124426. 2
68019124427. 3

68019124428. 4

Question Number : 7 Question Id : 6801916233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019124425. 1
68019124426. 2
68019124427. 3

68019124428. 4

Question Number : 8 Question Id : 6801916234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I Books LIST IT Authors
(Boolk/Theory {Author/Thinker Name of
proposed/Characteristic, etc.) Theory, etc.)

A |Summer Hill I. |John Holt

B. |Deschooling II. |Evan Illich

C. |Why children fail? III. | Giyubhai Badheka
D. |Divaswapna IV. |AS. Neil

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (I), (B) - (I11). (C) - (IT), (D) - (IV)
3. (A) - (I). (B) - (IT). (C) - (IV). (D) - (ITI)
4. (A)-(IV), (B) - (II), (C) - (I). (D) - (I1I)

Options :

68019124429. 1
68019124430. 2
68019124431.3

68019124432. 4

Question Number : 8 Question Id : 6801916234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (I). (B) - (III). (C) - (1I). (D) - (IV)
3.(A)-(1). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (IV). (B) - (IT). (C) - (I). (D) - (III)



Options :

68019124429. 1
68019124430. 2
68019124431.3
68019124432. 4

Question Number : 9 Question Id : 6801916235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the order of the process in which social change occurs:
(A). Change in the thinking of individuals

(B). Change in the Social Interactions

(C). Change in the Attitudes of individuals

(D). Change in the Experience of individuals

(E). Change in the Social Structure

(F). Change in the Social relations

Choose the correct answer from the options given below:

1. (A). (B). (C). (D). (E). (F).
2. (A). (D). (C). (B). (F). (E).
.(B). (A). (D). (C) (B). (F).
(Q). (B). (F). (D). (A). (E).

e Tad

Options :

68019124433, 1
68019124434, 2
68019124435. 3
68019124436. 4

Question Number : 9 Question Id : 6801916235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C). (D). (E). (F).
2. (A), (D). (C). (B). (F). (E).
_(B). (A). (D). (C) (E). (F).
4. (C). (B), (F). (D). (A). (E).

T2

Options :

68019124433, 1
68019124434. 2
68019124435. 3

68019124436. 4

Question Number : 10 Question Id : 6801916236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Education 1s an instrument of Social change". How does education being an
instrument. of perform this role?

(A). Questioning and critiquing the existing values

(B). Waits for a change and prepares the society to adapt to change.

(C). Develops individual capacity and capabilities to explore. initiate and guide
social change.

(D). Lays down criteria and standards for effectively assessing the social change.
Choose the correer answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (A). (C) and (D) only.

o

Options :
68019124437. 1
68019124438. 2

68019124439. 3



68019124440. 4

Question Number : 10 Question Id : 6801916236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124437. 1
68019124438. 2
68019124439. 3

68019124440. 4

Question Number : 11 Question Id : 6801916237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be taken as a comprehensive defimtion of Culture?

1. Set of shared values, beliefs. behaviours

2. Set of shared values, beliefs, material as well as non-material aspects.
common symbols and meaning

. Set of shared values, beliefs, attitudes. knowledge and skills which forms part
of the common symbols. meanings and behaviours of a group of people.

4. Set of shared values, beliefs, social heritage of a group of people.

faa

Options:

68019124441. 1
68019124442. 2
68019124443.3

68019124444. 4

Question Number : 11 Question Id : 6801916237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019124441.1
68019124442. 2
68019124443. 3

68019124444. 4

Question Number : 12 Question Id : 6801916238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct options on the principles of Idealism

1. Insistence on the maximum development of the individual body. mind and
spirit

. Insistence on the preparation for real life

. Principle of Self Education

. Principle of Utility

L 12

e

Options :

68019124445, 1
68019124446. 2
68019124447.3

68019124448. 4

Question Number : 12 Question Id : 6801916238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68019124445. 1
68019124446. 2
68019124447. 3
68019124448. 4

Question Number : 13 Question Id : 6801916239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



"By education. I mean an all-round development of the child and man - body. mind
and spirit". Who gave the above quote?

. Swami Vivekanand

. Jean Rousseau

. Rabindranath Tagore
4. Mahatma Gandhi

Options :

fad BJd —

68019124449. 1
68019124450. 2
68019124451. 3
68019124452. 4

Question Number : 13 Question Id : 6801916239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124449. 1
68019124450. 2
68019124451. 3

68019124452. 4

Question Number : 14 Question Id : 6801916240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LIST I Schools ole:uught

LIST II Thinkers

(Boolk/Theory

proposed/Characteristic, etc.)

{Author/Thinker Name of
Theory, etc.)

(A) |Naturalism (I) |Bertrand Russel
(B) |Idealism {11} |Jean Jack Rousseau
{C) |Realism (IIT)| John Dewey

(D) |Pragmatism (IV)| 511 Aurobindo

Choose the correct answer from the options given below:

1. (A) - (). (B) - (I1). (C) - (III). (D) - (IV)
2. (A) - (I). (B) - (IV). (C) - (D). (D) - (IIT)
3.(A) - (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019124453. 1
68019124454, 2
68019124455. 3

68019124456. 4

Question Number : 14 Question Id : 6801916240 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (). (B) - (II). (C) - (III). (D) - (IV)
2.(A) - (IT). (B) - (IV). (C) - (). (D) - (II)
3.(A)- (D). (B) - (I). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (I)




Options :

68019124453, 1
68019124454, 2
68019124455, 3

68019124456. 4

Question Number : 15 Question Id : 6801916241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Commissions.Committees and/or national flagship
programs on umiversalization of elementary education in the chronological order:
(A). Right to Education

(B). Kothari Commission

(C). District Primary Education Program

(D). Sarva Shiksha Abhiyan

Choose the correct answer from the options given below:

1. (B). (C). (D). (A).
2. (A). (B). (C). (D).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019124457. 1
68019124458. 2
68019124459. 3

68019124460. 4

Question Number : 15 Question Id : 6801916241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (B). (C). (D). (A).
2. (A). (B). (C). (D).
3. (B). (A). (D). (C).
4.(C). (B). (D). (A).

Options :

68019124457. 1
68019124458. 2
68019124459. 3

68019124460. 4

Question Number : 16 Question Id : 6801916242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Psychology may be most satisfactorily defined as the Science of :

. Human Behaviour
. Study of Soul

. Study of Mind

4. Study of Heart

| I

s

Options :

68019124461. 1
68019124462. 2
68019124463. 3
68019124464. 4

Question Number : 16 Question Id : 6801916242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :

| R

L]

68019124461. 1
68019124462. 2
68019124463. 3
68019124464. 4

Question Number : 17 Question Id : 6801916243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Educational Psyhchology 1s the branch of Psychology which mainly deals with

. teaching and learning
. value of education

. all walks of life

4, natural science

b =

L]

Options :

68019124465. 1
68019124466. 2
68019124467.3

68019124468. 4

Question Number : 17 Question Id : 6801916243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019124465. 1
68019124466. 2
68019124467. 3
68019124468. 4

Question Number : 18 Question Id : 6801916244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The domains of learning are classified into

1. two types
2. three types
3. four types
4. five types

Options :

68019124469. 1
68019124470. 2
68019124471.3

68019124472. 4

Question Number : 18 Question Id : 6801916244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. &l YBRI
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Options :

g J

68019124469. 1
68019124470. 2
68019124471. 3

68019124472. 4

Question Number : 19 Question Id : 6801916245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has given the Theory of Trial and Error?

. E L. Thorndike
. J B Watson

3. Skinner

4, Gestalt

Options:

I =

68019124473. 1
68019124474. 2
68019124475. 3

68019124476. 4

Question Number : 19 Question Id : 6801916245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124473. 1
68019124474. 2
68019124475. 3

68019124476. 4

Question Number : 20 Question Id : 6801916246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Operant Conditioning does not believe in

. Stimulus trigger

. Response trigger

3. Stimulus response trigger
4. behaviour modification

I =

Options:

68019124477. 1
68019124478. 2
68019124479.3

68019124480. 4

Question Number : 20 Question Id : 6801916246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124477. 1
68019124478. 2
68019124479. 3

68019124480. 4

Question Number : 21 Question Id : 6801916247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word 'adolescence’ comes from Latin verb 'adolescere’ which means to

. cherish
L urture
. grow

4. nourish

= =

Taa

Options :

68019124481. 1
68019124482. 2
68019124483.3
68019124484. 4

Question Number : 21 Question Id : 6801916247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



TSIARY Teg ciicA [l TSI ¥ od g fore 2 8
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Options :

68019124481. 1
68019124482. 2
68019124483. 3

68019124484. 4

Question Number : 22 Question Id : 6801916248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has called Adolesence as a period of great stress and strain .storm and strife?

. Stanely Hall
. Skmmner

. Thorndike
4, Bandura

I —

Laa

Options:

68019124485. 1
68019124486. 2
68019124487.3

68019124488. 4

Question Number : 22 Question Id : 6801916248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124485. 1
68019124486. 2
68019124487.3

68019124488. 4

Question Number : 23 Question Id : 6801916249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Spearman's two factor theory asserts that there are two types of factors working in
one's intelligence namely

1. General and Specific Intelligence

2. Conative and Cognative intelligence
. Single and Multiple Intelligence

. Specific and Multiple Intelligence

e g

Options :

68019124489. 1
68019124490. 2
68019124491.3

68019124492. 4

Question Number : 23 Question Id : 6801916249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124489. 1
68019124490. 2
68019124491. 3
68019124492. 4

Question Number : 24 Question Id : 6801916250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Guilford theory lays down a model of intellect involving three interrelated basic
parameters for explaining the

1. structural composition of human intelligence
2. structural compostion of human body

. Structural composition of heart

4. Structural composition of brain

faa

Options :

68019124493, 1
68019124494, 2
68019124495, 3

68019124496. 4

Question Number : 24 Question Id : 6801916250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FreTs i - gusiH o oy 7 tReR Hafdd gi-amc arucs! of i
@ §U g &1 U HIsd W@ ¢ ol §ardl o -

1. U4 §fg i TS T3]
2. AFG YRR B WRIAHD =]
3

B O YgATHD T3]
4. AR~ & YT Y490

Options :

68019124493. 1
68019124494. 2
68019124495. 3

68019124496. 4

Question Number : 25 Question Id : 6801916251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Book/Theory (Author/Thinker™Name of
proposed/Characteristic, etc.) Theory, etc.)
(A) | Two factor Theory (I) |G H Thomson
(B) |Group Factor Theorv (I} | Spearman
(C) |Sampling Theory (IIT)} Thrustone
(D)) |Hierarchical Theory (IV)| Vernon

Choose the correct answer from the options given below:

(A) - (). (B) - (IIT). (C) -(I). (D) - (IV)
A(A) - (I). (B) - (ITT). (C) - (II). (D) - (IV)
(A) - (I). (B) - (I1). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

| R

L)

Options :

68019124497. 1
68019124498. 2
68019124499. 3

68019124500. 4



Question Number : 25 Question Id : 6801916251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fEreT 3 g1 3R GE-I1
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&) [5-Pre gl M |t g ATAE
(B) |9E-HR® bzl (1) | =
() |ufde=i Rigid aIm)| e
(D) |TerIshiad fgid (IV)|aia
-t feu e fosed! O Tel SR |

1. (A) - (I). (B) - (III). (C) - (I). (D) - (IV)
2.(A) - (I). (B) - (). (C) - (II). (D) - (IV)
3.(A)-(1D). (B) - (IT). (C) - (IV). (D) - (II)
4. (A) - (II). (B) - (AV). (C) - (I). (D) - (II)

Options :

68019124497. 1
68019124498. 2
68019124499. 3

68019124500. 4

Question Number : 26 Question Id : 6801916252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
(Book/Theory (Author/Thinker/Name of
proposed/Characteristic, etc.) Theory, etc.)
{(A) |S.R Theory of Learning () |Skinner
(B) |Classical Conditioning (ID) | Vveotsky
(C) |Operant Conditioning Theory (IIT}| Paviov
(D) |Secial Development Theory (IV)| Thorndike

Choose the correct answer from the options given below:

1. (A) - (IV). (B) - (T11). (C) - (). (D) - (I)
2.(A)-(1),(B) - (1II), (C) - (II), (D) - (IV)
3. (A) - (I). (B) - (II). (C) - (IV). (D) - (IIT)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019124501. 1
68019124502. 2
68019124503. 3
68019124504. 4

Question Number : 26 Question Id : 6801916252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e X FEl-1 3R G-I
beﬁl II
(A) [dre- &1 s R Faaid @ PR
(B) |[FeTtme b (ID) [araTicent
(©) |sitRe Bt fagia (1ID)| uracila
D) [arfoe e fugia V| UHSTE®
A= feu e foeedl o 9 gel 3w 1

1. (A) - (IV). (B) - (TI1). (C) - (1), (D) - (I)
2. (A) - (I). (B) - (IT). (C) - (II). (D) - (IV)
3. (A)-(I). (B) - (IT). (C) - (IV). (D) - (III)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)



Options :

68019124501. 1
68019124502. 2
68019124503. 3

68019124504. 4

Question Number : 27 Question Id : 6801916253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the rights sequence for the stages of Infancy and Early childhood
(A).Self Assertion

(B).Period of make believe and fantasy

(C).Dependence

(D).Rapid growth and development

Choose the correct answer from the options given below:

.(A). (B). (C). (D).
(D). (C), (A), (B).
.(B). (A). (D). (C).
(Q). (B). (D). (A).

Ia =

e T

Options :

68019124505. 1
68019124506. 2
68019124507. 3
68019124508. 4

Question Number : 27 Question Id : 6801916253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (C). (D).
2. (D). (C). (A). (B).
3. (B). (A). (D). (C).
4. (C). (B). (D). (A).

Options :

68019124505. 1
68019124506. 2
68019124507. 3

68019124508. 4

Question Number : 28 Question Id : 6801916254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sequence the content parameter of Guilford Model of Intellect
(A).Semantic

(B).Auditory

(C).Symbolic

(D). Visual

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (A). (Q). (B). (D).
3. (D). (B). (C). (A).
4.(C). (B). (D). (A).

Options :

68019124509. 1
68019124510. 2
68019124511.3
68019124512. 4



Question Number : 28 Question Id : 6801916254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FTT®IS Arsd 3% Scdde & Gl IRMHICR & 30 ogaieyd 3
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. (A). (B). (C). (D).
_(A). (C). (B). (D).
.(D). (B). (C). (A).
.(C). (B). (D). (A).

|

e g

Options :

68019124509. 1
68019124510. 2
68019124511.3

68019124512. 4

Question Number : 29 Question Id : 6801916255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which laws of Learming is propounded by Thorndike?
(A).Law of Readiness

(B).Law of Effect

(C).Law of Exercise

(D).Law of nature

Choose the correct answer from the options given below:

. (A). (B) and (C) only.
. (A). (C) and (D) only.
.(B). (C) and (D) only
4. (A). (B) and (D) only.

Ia =

L]

Options :
68019124513. 1

68019124514. 2



68019124515. 3

68019124516. 4

Question Number : 29 Question Id : 6801916255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ysg® gRI Usiad "dRea & Ao s 3 82
(A) dORT &1 fATm
(B) WHId &1 f-gH
(C) 3 &7 fAU8
(D) U id &1 Fa|
- f3U T faeedl & O Jel SR IH|
1. %ad (A), (B) 3R (C)
2.%ad (A). (C) 3R (D)
3.%ad (B), (C) AR (D)
4.%dd (A). (B) 3R (D)

Options :

68019124513. 1
68019124514. 2
68019124515. 3

68019124516. 4

Question Number : 30 Question Id : 6801916256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which are the Maslow's Hierarchical structure of Needs ?
(A).Psychological Needs

(B).Safety Needs

(C).Self-Actualization

(D).Self-Realisation

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (C). (B). and (D) only
4. (C) and (B) only.

Options :

68019124517. 1
68019124518. 2
68019124519. 3
68019124520. 4

Question Number : 30 Question Id : 6801916256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. %ad (A), (B) 3R (C) .

2.3 (A), (B) 3R (D).
3.®ad (C), (B), AR (D).
4%?1({*}3#{

Options :

68019124517. 1
68019124518. 2
68019124519. 3

68019124520. 4



Question Number : 31 Question Id : 6801916257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is the correct explanation of miecro teaching?

1. It 1s a teacher training technique in which a piece of lesson is taught to master
a skill of teaching.

. It 1s the process of evaluation of teaching on a broader level used by the
practicing teachers.

3. It 1s a part of NCTE evaluation system of teachers.

4. It deals with the issue related to individual difference in a particular class.

|

Options :

68019124521. 1
68019124522, 2
68019124523. 3

68019124524. 4

Question Number : 31 Question Id : 6801916257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124521.1
68019124522. 2
68019124523. 3

68019124524. 4



Question Number : 32 Question Id : 6801916258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

In which of the articles of the Indian constitution is the Right to Education’
mentioned?

. Article- 86

Artiele-21 A
. Article-21 B
4, Article-22 A

Options :

faa b2 —

68019124525. 1
68019124526. 2
68019124527. 3

68019124528. 4

Question Number : 32 Question Id : 6801916258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRd P ey § Rien & iR &1 3w 59 e & fparman g

( 2 &ﬂﬁéa - 86
2 &ﬂﬁéa 21 A
3 &ﬂﬁéa -21B
4. &ﬂﬁéa -22

Options :

68019124525. 1
68019124526. 2
68019124527. 3

68019124528. 4

Question Number : 33 Question Id : 6801916259 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not one of the Maxims of Teaching?

1. Easy to Difficult

2. Concrete to Abstract
3. Known to Unknown
4. Complexity to Clarity

Options:

68019124529. 1
68019124530. 2
68019124531.3

68019124532. 4

Question Number : 33 Question Id : 6801916259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frofafad 3 9 o H-91 e &1 ve fgid T8 g2
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1
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4. Sfca gy

Options :

68019124529. 1
68019124530. 2
68019124531. 3
68019124532. 4

Question Number : 34 Question Id : 6801916260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UEE stands for. ......cciiiii

1. Universalization of Elementary Education
2. Unified Elementary Education

. Understanding Elementary Education

4. Universal Encyclopaedia of Education

L]

Options :

68019124533. 1
68019124534. 2
68019124535. 3

68019124536. 4

Question Number : 34 Question Id : 6801916260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UEE &1 faWaR g |

Options :

68019124533. 1
68019124534. 2
68019124535. 3

68019124536. 4

Question Number : 35 Question Id : 6801916261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which article of Indian Constitution mentions "All minorities whether based on
religion or language. shall have the right to establish and adminsiter educational
mstitutions of their choice"

1. Article-36
2. Article-30
3. Articles-16 and 17
4. Article-32

Options :

68019124537. 1
68019124538. 2
68019124539. 3

68019124540. 4

Question Number : 35 Question Id : 6801916261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Hfaur & 64 sifwse § S foa1 741 ¢ 1o "y a1 UIsT & S1UR
TR GH eI BT 39t g & eifires T &1 R 3R WL &1

Options :

68019124537. 1
68019124538. 2
68019124539. 3

68019124540. 4

Question Number : 36 Question Id : 6801916262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Modification of behaviour through experience 1s termed as.........

1. Education
2. Training
3. Learning
4. Teaching

Options :

68019124541. 1
68019124542. 2
68019124543. 3

68019124544. 4

Question Number : 36 Question Id : 6801916262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3FYd & T 9§ o7aeR & URadH &1 Hg1 9 © -

1. TR

2. Ui

3. 3ffeRTH

4. TRrefor
Options :
68019124541. 1
68019124542, 2
68019124543, 3

68019124544. 4

Question Number : 37 Question Id : 6801916263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Psycho Analysis i1s popularised by which among the following

1. Freud

2. Cattell

. Skinner

4. Daniel Goleman

L]

Options :

68019124545, 1
68019124546. 2
68019124547. 3

68019124548. 4

Question Number : 37 Question Id : 6801916263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

s B2

68019124545. 1
68019124546. 2
68019124547. 3

68019124548. 4

Question Number : 38 Question Id : 6801916264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Concept/Strategy Characteristics
(A) |Micro Teaching ] {I) |Decide the part to act
{B) |Fole Play (II) | Teacher preparation
{C) |Programmed Learning {(IIT}| Starts with concrete
(D) |Maxim of Teaching {(IV)|Priciple of sequencing

Choose the correct answer from the options given below:

1. (A)-(I). (B) - (I). (C) - (IV). (D) - (1II)
2. (A) - (II1). (B) - (I). (C) - (IV), (D) - (II)
3. (A) - (). (B) - (IV). (C) - (IlT). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019124549. 1
68019124550. 2
68019124551. 3

68019124552. 4

Question Number : 38 Question Id : 6801916264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o & Geil-1o FIUgEl-I
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YRV q
(A) |[qeA o (D) [ & o= 1 99
(B) | Y& Ay an |Ries dant
(C) | TR afferTs UD|Id Y=l
(D) |Frefor &1 fagid (IV)| 3rIepHuT &1 fagid
- feu U fdsedl & 9§ el SR I |

L. (A) - D). (B) - (I). (C) - (IV). (D) - (IIT)
2. (A) - (). (B) - (I). (C) - (IV). (D) - (I)
3.(A)-(11). (B) - V), (C) - (1), (D) - (T)
4.(A) - (IIT). (B) - (IV). (C) - (D). (D) - (II)

Options :

68019124549. 1



68019124550. 2
68019124551. 3

68019124552. 4

Question Number : 39 Question Id : 6801916265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Processes of Teaching

(A). Planning and Fixing the Outcomes

(B). Selecting the Learning Experiences

(C). Evaluation of Learning

(D). Selction of Content

Choose the correct answer trom the options given below:

.(A). (D). (). (B).
_(A). (C). (B). (D).
.(B). (A). (C). (D).
.(A). (D). (B). (C).

|

L]

Options:

68019124553. 1
68019124554. 2
68019124555. 3

68019124556. 4

Question Number : 39 Question Id : 6801916265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(A) e 3R widwdl ol gy
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. (A), (D). (C). (B).
. (A). (C). (B). (D).
. (B). (A). (C). (D).
4. (A). (D). (B). (C).

fag B2 —

Options :

68019124553, 1
68019124554, 2
68019124555, 3
68019124556. 4

Question Number : 40 Question Id : 6801916266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the right sequence in Hierachy of Needs?

(A). Selt-Actualization Needs

(B). Esteem Needs

(C). Safety Needs

(D). Love and Belongingness Needs

Choose the correct answer trom the options given below:

1. (C). (D). (B). (A).
2. (D). (C), (B). (A).
3.(C). (D). (A). (B).
4. (D). (C). (A), (B).

Options :

68019124557. 1
68019124558. 2
68019124559. 3

68019124560. 4



Question Number : 40 Question Id : 6801916266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HITGD IS b U T BT Uel b F1 82
(A) STH-HITT B STagHdl

(B) T &1 HTahHdl

(C) GR&T DT SATa=gehdT

(D) UH 3R ATAYA ST HTaRgdHdl

- feu e o el O 9§ 981 SR I |

-(Q). (D). (B). (A).
. (D). (C). (B). (A).
.(C). (D). (A). (B).
4. (D). (C). (A). (B).

| I

L)

Options :

68019124557. 1
68019124558. 2
68019124559. 3
68019124560. 4

Question Number : 41 Question Id : 6801916267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are correct?

(A). Branching programming is developed by B.F.Skinner

(B). Linear programmuing 1s also known as Skinnerian programming
(C). Branching programme can be either forward or backward

(D). Norman Crowder has introduced Branching programming
Choose the correct answer from the options given below:

.(A). (B) and (D) only.
. (A). (B) and (C) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Ia =

L]

Options :
68019124561. 1
68019124562. 2



68019124563. 3

68019124564. 4

Question Number : 41 Question Id : 6801916267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FaftfRd T s Ty 9E
(A) RMTETT ST 9106 R gRI fdewiyd &1 7% 8
(B) XA 3¢ B! Rep=fega Muftin & =g o ol SH1 51 8|
(C) TR 33 T a7 Ui B Tehdl |
(D) AT HIIST A WA 3ISTH P YFHA DI o
- f3U T fasedl & O Jel SR IH|
1. ®ad (A). (B) 3R (D).
2.%ad (A). (B) 3R (C) .

3. (A). (B). (C) 3R (D).
4.%ad (B). (C) and (D) .

Options :

68019124561. 1
68019124562. 2
68019124563. 3

68019124564. 4

Question Number : 42 Question Id : 6801916268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are correct pairs?

(A). Pleasure- Id

(B). Reality- Ego

(C). No control- Super Ego

(D). Morality- Carthasis

Choose the correct answer from the options given below:!

1. (A) and (B) only.

2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

Options :

68019124565. 1
68019124566. 2
68019124567. 3

68019124568. 4

Question Number : 42 Question Id : 6801916268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafaiad ¥ 9 &1- 9 95! gad 82

(A) 3G -58

O gt

(C) :

(D) AfdHd-S1yiRE

- feu e o el O 9§ 981 S 9|
1. Bad (A) AR (B).

2.%ad (A). (B) 3R (C) .
3. (A). (B). (C) 3R (D).
4.%ad (B). (C) 3R (D).

Options :

68019124565. 1
68019124566. 2
68019124567. 3

68019124568. 4



Question Number : 43 Question Id : 6801916269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

Article Concerned Theme
(A)|Article-17 (T} |Early Childhood Care and Education
(B) |Article-30 (II) |E.eligious Education
(C) |Article-28 (TIT)| Untouchabality
(D) |Article-45 (IV)|Education of Minorities

Choose the correct answer from the options given below:

(A)-(IV). (B) - (IIT). (C) - (I). (D) - (II)
(A) - (IV). (B) - (IIT). (C) - (IT). (D) - (I)
-(A) - (TI1). (B) - (IV). (C) - (I). (D) - (IT)
(A) - (III). (B) - (IV). (C) - (II). (D) - (I)

|

e T

Options:

68019124569. 1
68019124570. 2
68019124571.3

68019124572. 4

Question Number : 43 Question Id : 6801916269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



B B3 i1 3R 11
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o o
(A) [orT=sgE -17 (@) IR a1 GauTe 1R f2ren
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(D) |3 T=5% 45 (V)| Seadend! @i e
4 f3U T fae el & 9 9el SR TH|

. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
(A) - (IV). (B) - (III). (C) - (II). (D) - (I)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)
4. (A) - (). (B) - V). (C) - (I). (D) - (I)

fag b2 —

Options :

68019124569. 1
68019124570. 2
68019124571.3

68019124572. 4

Question Number : 44 Question Id : 6801916270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There 15 a triangular relationship among Learning Outcomes, Learning
Experiences. and .............

1. Teacher Efficiency

2. Students' Capacity

. School Administration
4. Evaluation

L]

Options:

68019124573. 1
68019124574. 2
68019124575. 3

68019124576. 4



Question Number : 44 Question Id : 6801916270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gﬂ@ﬁ%ﬁqﬁwﬁﬁ@ﬁ%ﬁm‘fﬁ? & did Ts By g6y
I

1.&1@3&_1?17
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Options :

68019124573. 1
68019124574. 2
68019124575. 3

68019124576. 4

Question Number : 45 Question Id : 6801916271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who among the following proposed the idea of Hierachy of Needs?

1. E. L. Thorndike
2. 1. P. Pavlov

3. Abraham Maslow
4. Haward Gardner

Options :

68019124577. 1
68019124578. 2
68019124579. 3
68019124580. 4

Question Number : 45 Question Id : 6801916271 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
fFrafafead ¥ 9 foa sragedrsit & uersd o faaR Udifad fean

1.5 9. 4Hag®
. 31S. O}, Uraqlg
3. 3fgTed Ol
4. TGS MSR

Options :

S DA

68019124577. 1
68019124578. 2
68019124579. 3

68019124580. 4

Question Number : 46 Question Id : 6801916272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of objectives associated with affective domain of
instructional objective:

(A).Organization

(B).Valuing

(C).Receiving

(D).Responding

Choose the correct answer trom the options given below:

1. (C). (D), (B). (A).
2. (A). (C). (B). (D).
(D). (A). (B). (C).
(C). (B). (D). (A).

e faa

Options :

68019124581. 1
68019124582. 2
68019124583. 3

68019124584. 4

Question Number : 46 Question Id : 6801916272 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3Cd IS =l & HIaTdS &F 9 9 JeRal &I Hol HH I |
(A) HTTS

(B) e

(C) WIS

QIR |
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. (C), (D), (B), (A).

.(A). (C). (B). (D).

D), (A), (B), (C).

(C). (B), (D), (A).

|

e faa

Options :

68019124581. 1
68019124582. 2
68019124583. 3
68019124584. 4

Question Number : 47 Question Id : 6801916273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Action verbs like "costruct”. "design" and "create” comes under which objectives
of cognitive domain?

1. Analyzing
2. Evaluating
3. Creating

. Application

e

Options :

68019124585. 1
68019124586. 2
68019124587. 3

68019124588. 4



Question Number : 47 Question Id : 6801916273 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
o1 fohard S HHiur, =1, T S d OIE &9 P e § A ©

1.%@@
2. geien
3. oIl
4. ST

Options :

68019124585. 1
68019124586. 2
68019124587. 3

68019124588. 4

Question Number : 48 Question Id : 6801916274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Why testing of previous knowledge is taken into consideration while developing a
lesson plan?

. To test the knowledge of the students to identify the slow and fast learners
. To minimise the burden of the teacher

. To develop readiness among the learners to receive new knowledge

4. To revise the previous lesson if there 1s a learning gap

faa 2 —

Options:

68019124589. 1
68019124590. 2
68019124591. 3
68019124592. 4

Question Number : 48 Question Id : 6801916274 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

OIS Aiei fdep ¥id rd 99 Ud 1 1 URI&0 ] e § &l 3l STl g2

1. it i O dRkaH a1l &1 UgaE &34 & (A0, SE1 & F1H BT R0 HA1
2. 18 BT 91 HH B & (oL

3. 70§ &1 U @34 & foru Rrefifal & &g qur fdefad @

4. TUsd Ut &1 9unfid &= & fu ofe 394 de- 1 e B

Options :

68019124589. 1
68019124590. 2
68019124591. 3

68019124592. 4

Question Number : 49 Question Id : 6801916275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the first step of lesson plan of mathematics in
constructivist approach?

1. Engage
2. Explore
3. Elaborate
4. Explain

Options:

68019124593. 1
68019124594. 2
68019124595. 3
68019124596. 4

Question Number : 49 Question Id : 6801916275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. 9S1q

2. GIoHl

3. fawro
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Options :
68019124593. 1
68019124594. 2
68019124595. 3

68019124596. 4

Question Number : 50 Question Id : 6801916276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which prineiple of play way method helps in cultivating self discipline among
learners?

. Principle of natural instinets

. Principle of creativity

. Principle of fulfilment of desires
. Principle of resposibility

|

e g

Options :

68019124597. 1
68019124598. 2
68019124599. 3
68019124600. 4

Question Number : 50 Question Id : 6801916276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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BRI 57

1. WIpfi gy 1 R

2. TGl BT gid
3. 5131 @1 fd & RKSid
4. ITRaIUE P Rigid

Options :

68019124597. 1
68019124598. 2
68019124599. 3

68019124600. 4

Question Number : 51 Question Id : 6801916277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement regarding project method of teaching:
(A). Project 1s a problematic act

(B). Best project 18 carried out in a natural setting without any purpose
(C). Project 1s conducted in social and natural situation

(D). Project 1s an activity

Choose the correcr answer trom the options given below:

1. (A). (C) and (D) only.
2. (A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

Taa

Options :

68019124601. 1
68019124602. 2
68019124603. 3

68019124604. 4

Question Number : 51 Question Id : 6801916277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fRigfur ot Uiside Ui & aR © el HU AU
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(D) Weiae Us Tiafafd 8
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1. %ad (A), (C) 3R (D).
2. %dd (A). (B) 3R (C) .
3. (A). (B). (C) 3R (D).

4. %4d (B), (C) AR (D) .

Options :

68019124601. 1
68019124602. 2
68019124603. 3

68019124604. 4

Question Number : 52 Question Id : 6801916278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of stages of discovery method:
(A).Experimentation and observation

(B).Problem solving

(C).Identification of a problem

(D).Evaluation

Choose the correct answer trom the options given below:

1. (Q). (B). (A). (D).
2.(C). (A). (B). (D).
3.(B). (A). (D). (C).
4.(C). (B). (D). (A).

Options:

68019124605. 1
68019124606. 2
68019124607. 3

68019124608. 4



Question Number : 52 Question Id : 6801916278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qrof fafer & ==ull o1 Tel 3ehd :
(A) TRIEUT 3R adih

(B) GHET THIYH

(C) HHHI & UgdH

(D) HedTd

= feu e faeedl o 9 get 3w I
-(C). (B). (A). (D).

(C). (A), (B). (D).

_(B). (A), (D). (C).

4. (C). (B). (D). (A).

| R

L]

Options :

68019124605. 1
68019124606. 2
68019124607. 3

68019124608. 4

Question Number : 53 Question Id : 6801916279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How has ICT contributed the most in teaching-learning process?

. it assures life long learning

. it has increased the geographical boundaries for learning any concept
. 1t has vanished the role of textbook

4. 1t promotes a flexible and dependent learning

| I

L]

Options:

680191246009. 1
68019124610. 2
68019124611. 3
68019124612. 4



Question Number : 53 Question Id : 6801916279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRreror.siférms ufssar & ane. It 3. &1 9ad g1 aIeH 9 UaR 82

1. TE oite R diE &1 sy i @
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3. T9 UTT® @1 YfHT &1 JTe 3 3 @
4. U8 US Al SR miyd e &1 9ear Sdr g

Options:

68019124609. 1
68019124610. 2
68019124611.3
68019124612. 4

Question Number : 54 Question Id : 6801916280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a step involved in the process of construction of an
achievement test?

1. Identifying instructional objectives
2. Making the design

. Preparing blueprint

4. Item analysis

L]

Options :

68019124613. 1
68019124614. 2
68019124615. 3
68019124616. 4

Question Number : 54 Question Id : 6801916280 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Suafel giter & Fato ot uftar & Fafafad o 9 o i 78 gare?

1. fAe e Sewl of ggaH Tl
2. fEomEa daR &

3. WP AUR S

4. UG fazdyu

Options :

68019124613. 1
68019124614. 2
68019124615. 3

68019124616. 4

Question Number : 55 Question Id : 6801916281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

TIST1 TIST I
Test items Type
(A [l o e Blanks @ i‘:;:““‘fd ACEponeE iy

Extended respone type

(B) |Choose the correct alternative (I |
item

Critically analvze one novel of
Premchand

(©) (IIT)| Selection type ttem

Give five ways of saving energy at
home

(D) (IV)|Supply type ttem

Choose the correct answer from the options given below:

- (A) - (IV). (B) - (II). (C) - (II). (D) - (I)
. (A) - (ITT). (B) - (IT). (C) - (I). (D) - (IV)
- (A) - (IV). (B) - (II). (C) - (II). (D) - (I)
. (A) - (D). (B) - (IV). (C) - (I). (D) - (II)

| B

e o

Options :

68019124617. 1



68019124618. 2
68019124619. 3

68019124620. 4

Question Number : 55 Question Id : 6801916281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fErem o gEi-1 & 91y G-I
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Y FTUPR TEU BY
X yfcdfira widfean
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_ | e wfafma
(B) [¥e! faded 90 L] e
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D) mgfmam:ra?w”ﬁraﬁﬁ s

T

- fau e fdenl O 9 9ol S 3|

1. (A) - (IV). (B) - (TI1). (C) - (I1). (D) - (I)
2. (A) - (II). (B) - (II). (C) - (I). (D) - (IV)
3. (A) - (IV). (B) - (I). (C) - (IIT). (D) - (I)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019124617. 1
68019124618. 2
68019124619. 3

68019124620. 4

Question Number : 56 Question Id : 6801916282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct regarding diagnostic test?
(A).It 1s a test designed to assess the learning of the students

(B).It covers wide content area

(C).It focus on specific difficult content area

(D).It 18 mostly qualitative in nature

Choose the correct answer from the options given below:

.(B) and (D) only.
. (A) and (B) only.
. (C) and (D) only:.
4. (B). (C) and (D) only.

Ia =

L]

Options :

68019124621. 1
68019124622. 2
68019124623. 3
68019124624. 4

Question Number : 56 Question Id : 6801916282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

&l TRI&U & Gae H FEiRad 8 9 1 9 $YT Hsl 87
(A) TS BHEI & YR &1 3T a - & o8 (ST & 5 U WIS g
(B) U8 STUS UTSd THFIT &7 &1 XMfHd Hal §
(C) TE oy Ffe- Tl Sa R eH Sled FRar s
(D) T8 g=a: ONee Ypfd &1 8lal o
- f3U T fasedl & O el SR IH|
1. %ad (B) 3R (D)
2. %ad (A) 3R (B)

3.%dd (C) 3R (D)
4. %ad (B), (C) 3R (D)

Options :

68019124621. 1
68019124622. 2
68019124623. 3

68019124624. 4



Question Number : 57 Question Id : 6801916283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following are the marks obtained (out of 10) by the students in a test
293323
Determine the range of the above data.

N o
] WD Taa LN

Options :

68019124625. 1
68019124626. 2
68019124627.3

68019124628. 4

Question Number : 57 Question Id : 6801916283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TS RI H B gRIUTW (10 8 ¥) 3 FafafEd s
8,9,3,2.3
SR 3HiFs] B [dR (o) Huid &

b

L)
-1 WO e Lh

4.
Options :
68019124625. 1
68019124626. 2
68019124627.3
68019124628. 4

Question Number : 58 Question Id : 6801916284 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

18 the not affected by extreme values in the distribution.

1. Mean
2. Median
3. Mode
4. Range

Options :

68019124629. 1
68019124630. 2
68019124631. 3

68019124632. 4

Question Number : 58 Question Id : 6801916284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

faaRur & == geat Q yuifaa el B

1. HeY

2. AferpT

3.

4. 391 (fAWIR)
Options :
680191246209. 1
68019124630. 2
68019124631. 3

68019124632. 4

Question Number : 59 Question Id : 6801916285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a characteristics of a Normal Probability Curve (NPC)?

1. The Normal Curve 1s asymmetrical
2. The Normal Curve 1s bimodal
. The Normal Curve 1s bilateral
4. The maximum ordinates occurs on both ends

L]

Options :

68019124633. 1
68019124634. 2
68019124635. 3

68019124636. 4

Question Number : 59 Question Id : 6801916285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad ¥ 9 & F 91 9Hm SHTdl 95 (TYRT) 3 G=ivdT g2

1. E1 9% HAa 8

2. I g% fgfadia gl

3. Qg I fguafia §

4. 3BT @I S BRI R A S|

Options :

68019124633. 1
68019124634. 2
68019124635. 3
68019124636. 4

Question Number : 60 Question Id : 6801916286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI
Different Forms of LISTII
Instruction through Explanation

Computers

Use of computers by the school staff to
(1) |organize learner data and make
instructional decisions

Computer-Assisted

(A) Instruction (CAI)

A learning activitty in which computers

N
Computer Managed (II) |execute programmes developed by the

(B)

Instruction (CMI)
learners
. . |Computer-Enriched Uses the computer to present
() et (IITH]. ; . :
Instruction (CEI) instructional information
y Computer-Based - | Presents instructional information and
oy (Iv)

Instruction (CBI) requires interaction from learners

Choose the correct answer from the options given below:

1. (A) - (). (B) - (III). (C) - (IV). (D) - (II)
2.(A)-(IV). (B) - (I).. (C) - (II). (D) - (III)

3.(A) - (IT). (B) - (II1). (C) - (I). (D) - (IV)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (I)
Options :

68019124637. 1
68019124638. 2
68019124639. 3
68019124640. 4

Question Number : 60 Question Id : 6801916286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1
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1. (A) - (). (B) - (III). (C) - (IV). (D) - (II)
2.(A)- (V). (B) - (1), (C) - (II). (D) - (I1I)
3.(A) - (IT). (B) - (II1). (C) - (I). (D) - (IV)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (I)

Options :

68019124637. 1

68019124638. 2

68019124639. 3

68019124640. 4

Question Number : 61 Question Id : 6801916287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of first four steps mnvolved in analysing qualitative
data:

(A).Identification of causal relationships

(B).Categorising the collected data

(C).Reading the overall collected data

(D).Naming or labeling the categories

Choose the correct answer from the options given below:

1. (C). (B). (D). (A).
2. (A). (C). (B). (D).
3. (B). (A). (D). (C).
4.(C). (D). (B). (A).



Options :

68019124641. 1
68019124642. 2
68019124643.3

68019124644. 4

Question Number : 61 Question Id : 6801916287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUMTHS Sl & (A=Yl H YMH U8 IR =@RUT &1 Jel SHH I |
(A) DR e} HI TgdH

(B) U AT HF sl &l aifdo] HA1

(C) TUfed JHidbs! Bl IHY &4 I UgHT

(D) SO T ATHEGRUI Ol Ad it

- feu U 9@ el O 9§ 981 S I |

(C). (B). (D). (A).
.(A). (C). (B). (D).
.(B). (A). (D). (C).
(C). (D). (B). (A).

2 =

e faa

Options :

68019124641. 1
68019124642. 2
68019124643.3

68019124644. 4

Question Number : 62 Question Id : 6801916288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qualitative research helps in collecting data under more situations.

1. Normal
2. Natural
3. Experimental
4. Artificial



Options :

68019124645. 1
68019124646. 2
68019124647.3
68019124648. 4

Question Number : 62 Question Id : 6801916288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUTHD SHTHUT HiTD fyfci & Se1 v o’ 1 HeE dRal g

1. 9rEg
2. Ui
3. TS
4.9
Options :
68019124645. 1
68019124646. 2
68019124647. 3

68019124648. 4

Question Number : 63 Question Id : 6801916289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following combinations 1s correct?

. Metaphysics - Study of the nature of Reality

. Epistemology - Study of the ethics

3. Axiology - the study of the nature and scope of knowledge
4. Aesthetics - Study of science

| R

Options :
68019124649. 1

68019124650. 2



68019124651. 3
68019124652. 4

Question Number : 63 Question Id : 6801916289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
8 9 &1 91 9aie 9al 87

1. HeTpIo/ay -arkiidead! ©f Upid o1 fea-

2. Ui HEm-AfdEmar &1 eaad

3. UG SiIciol -5 St UPpfa 3R R & S{eaae
4. TRfCay - faq @1 1Ay

Options:

68019124649. 1
68019124650. 2
68019124651. 3

68019124652. 4

Question Number : 64 Question Id : 6801916290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Philosophy is the foundation of different aspects of

1. Knowledge
2. Education

. Society

4. Learning

L]

Options :

68019124653. 1
68019124654. 2
68019124655. 3
68019124656. 4



Question Number : 64 Question Id : 6801916290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CAE] @ fafir ugqstl i i g

1. 3011

2. fRrem

3. 9H

4. GrEH
Options :
68019124653. 1
68019124654. 2
68019124655. 3

68019124656. 4

Question Number : 65 Question Id : 6801916291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the order of scientific inquiry
(A).Problematizing

(B).Hypothesizing

(C).Testing

(D). Interpreting

Choose the correct answer from the options given below:

.(A). (B). (C). (D).
.(B). (A). (C). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

b =

e s

Options :

68019124657. 1
68019124658. 2
68019124659. 3
68019124660. 4



Question Number : 65 Question Id : 6801916291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

AP ST & oF 8 Fafafad o cafiud %
(A) O

(B) UG

(C) TRI&

(D) STRHAT

- feu e o el O 9§ 981 SR I |

- (A), (B). (C). (D).
.(B). (A). (C). (D).
.(B). (A). (D). (C).
.(C). (B). (D). (A).

|

e g

Options :

68019124657. 1
68019124658. 2
68019124659. 3
68019124660. 4

Question Number : 66 Question Id : 6801916292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Branch of Psychology which go into depth of behaviour related to telepathy.extra
sensory perception and rebirth

. Adult Psychology

. Developmental Psychology
3. Child Psychology

4. Para Psychology

|

Options :

68019124661. 1
68019124662. 2
68019124663. 3

68019124664. 4



Question Number : 66 Question Id : 6801916292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAITGR Pl =IRaT off eaiig e, siftiiea Gadt 4Ron SR gei+ § Heiferd
Ao R D1 Y4 Bl &

1. Wi gAifagH
2. [geg TfasH
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Options :

68019124661. 1
68019124662. 2
68019124663. 3
68019124664. 4

Question Number : 67 Question Id : 6801916293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Apart from Learner and Teacher the role of ............... variables 1s also significant

. Intervening
. Dependent
. Independent
4. Manipulated

| I

(%]

Options :

68019124665. 1
68019124666. 2
68019124667. 3

68019124668. 4

Question Number : 67 Question Id : 6801916293 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Rreeif ofiR e & sraar =R Bt YT 1t Teaqul g

1. geadt
2. HTIEd
3. 9dd

4. gfeafdd

Options :

68019124665. 1
68019124666. 2
68019124667. 3

68019124668. 4

Question Number : 68 Question Id : 6801916294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maturation 1s natural process of bringing

1. Growth and Development
2. Training

. Values Development

4. Nurture and Nourishment

L]

Options :

68019124669. 1
68019124670. 2
68019124671.3

68019124672. 4

Question Number : 68 Question Id : 6801916294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124669. 1
68019124670. 2
68019124671. 3

68019124672. 4

Question Number : 69 Question Id : 6801916295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Intelligence tests are broadly classified into two broad categories

1. Verbal and Non Verbal test

2. Individual and Group test

3. Performance and Non Performance test
4. Sequence and Non Sequence Test

Options :

68019124673. 1
68019124674. 2
68019124675. 3
68019124676. 4

Question Number : 69 Question Id : 6801916295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



gfSH W&ol &l Oic dR W gl ouge 4wl & affed faar man g
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2. AIRATd R g YRI&01
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Options :
68019124673. 1
68019124674. 2
68019124675. 3

68019124676. 4

Question Number : 70 Question Id : 6801916296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The term personality is derived from Latin word..........

1. Persona
2. Persenc
3. Personity
4. Percept

Options :

68019124677. 1
68019124678. 2
68019124679. 3

68019124680. 4

Question Number : 70 Question Id : 6801916296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



ORAIICT Teg dfc e EAGEIRIEIE
1. ORI
2. 941
3. GBI
4. TRIY
Options :
68019124677. 1
63019124678. 2
68019124679. 3

68019124680. 4

Question Number : 71 Question Id : 6801916297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following. according to Freud. is not one of the types of
personaliy?

1. Anal

2. Phallic

3. Oral

4. Cholerie

Options :
68019124681. 1
68019124682. 2
68019124683. 3

68019124684. 4

Question Number : 71 Question Id : 6801916297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Ul

2. Bidd

3. 3R

4. DIARD
Options :
68019124681. 1
68019124682. 2
68019124683. 3

68019124684. 4

Question Number : 72 Question Id : 6801916298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Plan. Teach. Feedback. Replan. and Reteach are the steps of............

. Team Teaching

. Miero Teaching

. Simulation

4. Problem based learning

| I

Taa

Options :

68019124685. 1
68019124686. 2
68019124687. 3
68019124688. 4

Question Number : 72 Question Id : 6801916298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019124685. 1
68019124686. 2
68019124687. 3

68019124688. 4

Question Number : 73 Question Id : 6801916299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The principles of programmes mstruction are-
(A). Principle of small steps

(B). Principle of active responding

(C). Principle of self-pacing

(D). Principle of student testing

. (A). (B) and (D) only.
. (A). (B) and (C) only:.
. (A). (B). (C) and (D).
.(B). (C) and (D) only.

I3 =

e g

Options:

68019124689. 1
68019124690. 2
68019124691.3

68019124692. 4

Question Number : 73 Question Id : 6801916299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HIYHTHT SR & H<id § -
(A) DI Dedl B Mgid

(B) Tfehy ufafcrar &1 fsid
(C) A&-TIfd &1 fagia

(D) BT URI&U &1 [&gid

1. %ad (A). (B) 3R (D)
2.%qd (A). (B) 3R (C)
3.(A). (B). (C) 3R (D)

4.%dd (B). (C) AR (D)

Options:

68019124689. 1
68019124690. 2
68019124691. 3

68019124692. 4

Question Number : 74 Question Id : 6801916300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

What will be your least priority while taking a classroom as a teacher?

1. Professional Commitment
2. Content Mastery

3. Understanding the Learners
4. Maintaming Pin drop Silence

Options:

68019124693. 1
68019124694. 2
68019124695. 3

68019124696. 4

Question Number : 74 Question Id : 6801916300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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2. It YT
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Options:
68019124693, 1
68019124694. 2
68019124695, 3

68019124696. 4

Question Number : 75 Question Id : 6801916301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which level was dropped from the old taxonomy of educational objectives when it
18 revised?

1. Analysis
2. Synthesis
3. Evaluate
4. Create

Options :

68019124697. 1
68019124698. 2
68019124699. 3

68019124700. 4

Question Number : 75 Question Id : 6801916301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. faweiym
2. AT
3. HedieH
4. 39T
Options :
68019124697. 1
68019124698. 2
68019124699. 3

68019124700. 4



